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QUESTION 1

Of the following Web service technologies, which is most commonly associated with the Orchestration pattern?
A. WS-Addressing

B. WS-BPEL

C. WS-ReliableMessaging

D. WS-Coordination

Correct Answer: B

QUESTION 2

The Protocol Bridging and Data Model Transformation patterns can be applied together to the same message or data
exchange.

A. True
B. False

Correct Answer: A

QUESTION 3

The application of the Protocol Bridging pattern helps overcome disparity between:
A. transport protocols

B. messaging protocols

C. transaction protocols

D. policy protocols

Correct Answer: AB

QUESTION 4

The service model most associated with the Process Abstraction and Orchestration patterns in general is:
A. entity service

B. utility service

C. wrapper service
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D. None of the above.

Correct Answer: D

QUESTION 5

Business process logic is abstracted and physically centralized as part of a platform that supports long-running service
activities via the use of a database that can temporarily store state data during periods of inactivity. Which of the
following compound patterns provides the range of features required to support these requirements?

A. Enterprise Service Bus

B. Service Broker

C. Orchestration

D. Official Endpoint

Correct Answer: C

QUESTION 6

Protocol bridging features are a common part of enterprise service bus products and can be provided through the use of
adapters.

A. True
B. False

Correct Answer: A

QUESTION 7

Which of the following patterns may also require the application of the Service Agent pattern?
A. Reliable Messaging

B. Asynchronous Queuing

C. Intermediate Routing

D. Policy Centralization

Correct Answer: ABCD

QUESTION 8

Which of the following statements is true?
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A. The overuse of service agents can lead to dependencies on proprietary vendor platforms.

B. The use of service agents is limited to the service architecture.

C. Service agents are common in orchestration environments but not within enterprise service bus environments.
D. None of these statements are true.

Correct Answer: A

QUESTION 9
Which of the following statements is false?

A. Widespread use of the Messaging Metadata pattern can be seen in the emergence of many WS-* extensions that
define industry standard SOAP header blocks that carry metadata.

B. Messaging frameworks and technologies need to provide support for the reading and writing of message headers or
properties in order to fully support the application of the Messaging Metadata pattern.

C. The Messaging Metadata pattern is not applicable to situations where the message sender and receiver need to
participate in stateful or conversational message exchanges.

D. The Messaging Metadata pattern can support the application of patterns such as Intermediate Routing by
supplementing messages with activity-specific metadata.

Correct Answer: C

QUESTION 10

The Process Centralization pattern is most commonly associated with which service model?
A. utility service

B. entity service

C. task service

D. hybrid service

Correct Answer: C

QUESTION 11

The Service Fa?ade pattern is often applied in order to separate the from the underlying service implementation so that
they can evolve independently.

A. service agent

B. service contract
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C. service activity
D. None of the above.

Correct Answer: B

QUESTION 12

The Process Centralization pattern:

A. physically centralizes business process logic into a single location

B. logically centralizes business process logic into a separate service layer
C. physically centralizes task services into an enterprise service bus

D. logically centralizes task services into an enterprise service bus

Correct Answer: A

QUESTION 13

The State Repository pattern is one of the core patterns that comprise the Enterprise Service Bus pattern because
complex compositions often include long periods of inactivity while waiting for composed services to complete their
processing, thereby providing an opportunity to defer state from memory to a state repository.

A. True

B. False

Correct Answer: B

QUESTION 14
Which of the following statements are true?
A. The Redundant Implementation pattern is most useful for services that possess non- agnostic service logic.

B. The Redundant Implementation pattern is concerned with eliminating single point of failure problems associated with
services that are actively reused.

C. The Redundant Implementation pattern can be supplemented with the Intermediate Routing pattern, which can be
applied to load balance access to a redundantly deployed service.

D. The Redundant Implementation pattern addresses issues of scalability, not issues of availability.

Correct Answer: BC

QUESTION 15
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A service fa?ade component can be used to abstract the part of a service architecture that has negative coupling
potential.

A. True
B. False

Correct Answer: A
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